	WNAW														
V	WSBS				,							/			
WMNB UPE								date: cancellation new order revision							
inte	w For Die	1.	11	411	-	1-1	start	date	m e: /	0/25		end date:	11/10		
		1800	42		/	7			7	1			contrac		
							spor	sors				:			
city/state/zip:												cart #:	cart #:		
telephone:												check one	<i>j</i> .		
						-31						□ agency			
						_	che	eck o	pe:						
							☐ stand broadcast mo.				0.	local			
							che	eck o	ne.			☐ regional	al al		
							☐ end of flight					chook on			
							4	mont	hly i	nvoice		Cash	<i>.</i> .		
		s.s. ‡			•		describe:						1		
						_		exter dolla credi	nd so r for t	chedule dollar		WUPE	Live 95,9		
len	hours to run	m	t	w	t	f	s	S	x	rate	#/wk	\$/wk	\$ total		
20					6	6				1291	14		1		
					3	3				121/6	1	-	20		
1 1					6	7							30		
	21 11				Ø						TV-				
30 0	6A-10A	3	3	3	6	6				17.96	14				
1	10A-3P	2		2	3	3					1		524		
1	3P-7P	3	3	3	6	6				1	1				
		ļ.													
0	6A-10A	8	8							12,96	14		3208.24		
1	10A-3P	3	3										3708,2		
1/	1011 31								170	1	1.				
1	3P-7P	8	5			-					1		212151		
1	_	8	5							- V	V		2656.21		
1	_	8	5		•								2550.45		
1	_	a	or et			m	ay			june dec		tofal	2656.76 2550,45 1556.74		
1	3 <i>P</i> -7 <i>P</i>	aj	or et	pers	on:	_	ον			dec	pproved by	total	2656,26 2550,45 4556,26		
	onountir	on	on	In hours to run m to s.s. #	In hours to run m t w so $GA-IDA$ $GA-$	on% co-op  s.s. #  In the len hours to run (daypart) m t w t $A = A = A = A = A = A = A = A = A = A =$	In hours to run (daypart) m t w t f $666$ $10A-3P$ $3366$ $610A-3P$ $22233$	conting:	contract   start date   start	contract #:_start date: _/   start date: _/   check one:	contract #:  start date: /0/25    check one:   announcement   sponsorship   public service   promotional	contract #: start date: /0 25  check one: announcement sponsorship political public service primit invoice cash in advance  check one: stand broadcast mo.	contract #:  start date:		

WBEC - AN	1 [	WNAW														
WBEC - FM		WSBS								,	1/24					
WMNB /										date: cancellation new order revision contract #:						
advertiser:	we/	en For Dis	hir	7	116	rac	e1.	star	t dat	"· ə:	10/25	6	end date:	18/6		
advertiser #:						/	7				,		3	contrac		
agency:	•					_		eck o		oment		contract				
address:							☐ announcement ☐ sponsorship					contract #:				
city/state/zip:							_	political public service promotional								
contact person: _											nal					
telephone:							check one:  remit invoice						check one:			
log listing:									cast	in a	dvance		☐ agend	СУ		
competing product				_	check one:  ☐ stand broadcast mo. ☐ calendar month				Э.	local	check one:					
package/program:													☐ region☐ nation	nal nal		
					check one: ☐ end of flight ☐ weekly invoice					check one:						
	P.O. # / EST. #												☐ cash	ic.		
sales person:				☐ special cycle describe:					☐ trade ☐ auction							
notes to traffic & a	ccount	ing:						opt	tions	for n	nake good					
								4	eck c	e flig	ht					
									sam	e we	ek chedule					
							-		dolla	r for	dollar					
		A						25 Sec. 35	cred ask	35	sperson					
												7				
dates to run	len	hours to run (daypart)	m	t	w	t		s	s	х	rate	#/wk	\$/wk	\$ total		
10/25-10/26	30	6A-10A					3				10					
		10A-3P					3									
	V	10A-3P 3P-7P					3				1					
*· //2 /2	20	1 1 164	-		-	-	4	-			10					
10/29+11/2	30	6A-10x 10A-3P 3P-7P	-	-			-				10					
<u>l</u> :	$\vdash$	10A-38	-				2				1					
V	V	3P-/P	-				2	-			W .					
11/5-10/6	70	11-101	7	7							10					
1 - 10/0	1	MAZP	3	3							10					
	+	6A-10A 10A-3P 3P-7P	3	3												
<b>W</b>	Ψ_	51-11	0	3							V					
			$\vdash$													
jan feb		mar	_	pr				nay			june		total	1177		
advertiser:		sep		sales	pers	on,		ov			dec	prøved b		450		
date:												tered by:		1		
Series 553														MDT		

WBEC - AI	VI Ž	WNAW				/	_							
WBEC - FI	<b>/</b>	WSBS			V									
WMNB ,	, [	WUPE										canc	ellation r	new order revision
advertisor: //		Ten For Dis	Theiel	TA	4	-	U				11/25		end date: _//	16
advertiser #:	ros	TOU POV DIS	10.01	77	1100	/	7	Siai	i uai	с. <u> </u>	10/23		end date://	
								ch	eck o	one:				contrac
agency:						4	ann	ounc	ement		contract #:			
address: city/state/zip:			<ul><li>□ sponsorship</li><li>□ political</li><li>□ public service</li></ul>					cart #:						
							7		pror					
elephone:				eck				obook one						
og listing:				_	remit invoice  cash in advance					check one:				
								chi	eck o	be.			direct	
competing produc			_	check one:  ☐ stand broadcast mo. ☐ calendar month				١.	check one:     local     regional					
oackage/program	:						_		eck o				□ nationa	
P.O. # / EST. #				_	☐ end of flight ☐ weekly invoice					check one	y:			
agency commi	ission_	%			CO-(	ор		monthly invoice special cycle					cash trade	
sales person:			_	describe:					☐ auction	<u> </u>				
notes to traffic & a	accoun	ting:			-				tions		nake good			
							_		sam	e flic	ht			
							_		sam exte		ek chedule			
										r for	dollar			
		Angeletini to disconnection								5000	sperson	i		
	1			,										
dates to run	len	hours to run (daypart)	m	t	w	t	f	s	s	x	rate	#/wk	\$/wk	\$ total
10/26														
10/25-10/20	30	6A-10A				2	2				10	THE COMMENT NAMED		
		10A-3P				1	1				1		(4)	
$\checkmark$		3P.7P				2	2				V			
,		•												
10/29-11/2	30	6A-101				2	7				10			
[1/1] 1 101-29						1	1				1			
1	V	10A-3P 3P-7P				2	2				1			
											-			
11/5-11/6	30	6A -10A	3	3							10			
1	1		1	1							1			
1	V 3P-7P 3 3													747/
У	1										V			330
an feb		mar	a	ıpr		<u> </u>	m	nay			june		total #	211
		sep		ct	-			ov			dec			371
advertiser: date:				sales		son: _	n	ov			dec app	proved by	total	310 L

## AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

Station and Location:

## ☐ FEDERAL CANDIDATE

## STATE/LOCAL CANDIDATE

Date:

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

1, Anthrea	a Harringle	w								
being/on beh	nalf of: <u> </u>	e								
a legally qua	lified candidate	of the De	notvalic							
political part	y for the office	of: Book	there Cam	Ty District	Allerman					
in the Jeveral Plectian										
election to be	election to be held on: 11/16/18									
do hereby request station time as follows:										
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks					
	See	a Hache								

Attach proposed schedule with charges (if available):

I represent that the payment fo by:	r the above described broadcast til	me has been furnished
Andrea Hania	ylon	
represent that this person or er	ounce the time as paid for by such ntity is either a legally qualified candida tion of the legally qualified candida	didate or an
The name of the treasurer of the	e candidate's authorized committe	
This station has disclosed to molecular classes and rates; and discount to federal candidates).	e its political advertising policies, ir t, promotional and other sales prac	ncluding: applicable ctices (not applicable
THIS STATION DOES NOT D BASIS OF RACE OR ETH	ISCRIMINATE OR PERMIT DISCI HNICITY IN THE PLACEMENT OF	RIMINATION ON THE ADVERTISING.
To Be Signed By	Candidate or Authorized C	committee
10/24/19 Date/	and the second s	
	Signature	)
To Be S	igned By Station Representative	•
Accepted	☐ Accepted in Part	Rejected
14 / Som	Parer Barry	Wroke Ttresident
Signature	Printed Name	Title

From October 24th through October 26th

	3-7 pm		2	7	4	10.00	40.00					
WBRK AM		Į.	æ	ĸ	9	6.00	36.00					
>	6 - 10 am 10-3 pm		9	9	12	10.00	120.00					
	3-7 pm		2	2	4	10.00	40.00					
WSBS			Н	П	2	10.00	20.00		9	_	(	2
	6 - 10 am 10-3 pm		2	2	4	10.00	40.00				"	₩.
	3-7 pm			33	3	10.00	30.00					
WBECAM	- 1			33	3	10.00	30.00		7		,	2
>	6 - 10 am 10-3 pm			3	æ	10.00	30.00			,		***
	3-7 pm	က	9	9	15	14.00	210.00					0
Live 95.5	- 1	7	ო	3	∞	14.00	112.00		2	2		27
_	6 - 10 am 10-3 pm	4	9	9	16	14.00	224.00		(	`)		THE STATE OF THE S
	3-7 pm	æ	9	9	15	12.96	194.40					
WUPE	10-3 pm	2	3	3	∞	12.96	103.68	1,437.44				28.
	6 - 10 am	4	9	9	16	12.96	207.36	Н		36	\	388
		Wednesday	Thursday	Friday	Total # of ads	Cost per ad	Total cost	Grand total cost				

From October 29th through November 6th

_	3-7 pm			2						6.00 10.00	60.00 120.00	
WBR	6 - 10 am 10-3 pm			9	9	ř	7		26	10.00	260.00 60	1
1	3-7 pm			2	2		ď	ı m	10	10.00	100.00	
				←	-		-	Н	4	10.00	40.00	The state of the s
6	6-10 am 10-3 pm			2	2		m	ന	10	10.00	100.00	
1	3-7 pm				2		m	က	∞	10.00	80.00	
-					2		m	m	80	10.00	80.00	
X	o - TO am TO-3 bm				4		7	7	18	10.00	180.00	M m
3.7 mm	3-7 pin	က	3	9	9		œ	Ŋ	34	14.00	476.00	
2/2		2	2	3	3		ĸ	ĸ	18	14.00	252.00	9
Live 95.5	3	3	3	9	9		∞	∞	37	14.00	518.00	$\sim$
3-7 nm	8	æ	33	9	9		œ	5	34	12.96	440.64	3.
WUPE	12	2	2	8	ന		က	3	18	12.96	233.28	3,419.44 X X Z
6 - 10 am	8	m	3	9	9		Ø	∞	37	12.96	479.52	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
	Monday	Tuesday	Wednesday	Thursday	Friday	Saturday Sunday	Monday	Tuesday	Total # of ads	Cost per ad	Total cost	Grand total cost